(Fl#K) HITEE REREMIKROERKR (KK, KEBK)
Fya—<vUEaENISE
EOAY X2 X453 X4 | HEE | EEE k=
XSERE| NOx k= 2 1 29
ok BE(m3/H) 4410 3,131
= BA(m3/H) 7790 | 4314
- BK 8 1.8
HEKORE (mg/L) 2/ 6 6.8
- BX 8 7.6
N Bk O2iR E(mg/L) = 6 71
- BK 8 7.9
HEK Q4R E (mg/L) 2/ 6 76
- BE 78 49
RAfEKe/H) 2K 111 91
" HEFH 25 18.2
BEKO1RE (mg/L) B 41 33.0
- H 15 6 4.4
COD | BRKH2REme/L) [~ g 10 6.3
- H 19 8 3.6
Bk O4iRE (mg/L) BK 10 52
- HiEF1y 6 2.1
HeKO 2R E(mg/L) BK 10 4.3
F - H 15 8 5.4
KEREMR| BOD | HIKR4REmMe/L) == 10 9.9
- BE 77 31
fAfEKe/H) BX 112 93
" HE ¥ 25 9
Bk O 1R E (mg/L) 2K 35 40 |FREEH
" HE ¥y 7 7
SS Bk O2iRE (mg/L) BX 12 10
w HE ¥ 9 2
BEK O 4R E (me/L) BX 10 4
- BE 15 2
RETEKe/BH) =X 21 2
" HE ¥y o 0.5
BEKO1EE (me/L) =% 7 05
n-Hex | #E/KO2;ERE (mg/L) EEEE-:iﬁJ : gg
- H 15 1 0.5
BEK O 4= E(meg/L) BX 1 05
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